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Dl 3,000,000
Al 2,611,328
ESEHIE Y 5,553,600 5,554,000 AN 400
J| 3,000,000
Al 2,553,600
EEHEIE e 5,553,600 5,554,000 AN 400
J| 3,000,000
Al 2,553,600
TAIZ2IHE BHF L JI2aH 1,500,000 0 1,500,000
401 Al HI L £ 0HHI 1,500,000 0 1,500,000
01 Al& B 1,500,000 0 1,500,000
OEAZ2IAHE HHd & JJ24aH 1,500,000
M= FAZINE S5 L & HE 4,000,000 5,500,000 A 1,500,000
J| 3,000,000
Al 1,000,000
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J| 3,000,000
Al 1,000,000
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ORE SA4AINT 55 L 47T AY 4,000,000
J| 3,000,000
Al 1,000,000
ESHIE0IN H2=4A 3,600 4,000 A 400
203 R F & 3,600 4,000 A 400
03 AIZH =X 2 F X H| 3,600 4,000 A 400
OZEHINEHON R 3,600
AlBIOI=1963 S HAIE 2229 50,000 50,000 0
201 gEt24A Y| 50,000 50,000 0
01 AP 22| d| 25,000 25,000 0
OAlBIO#=1963 S ZAIE 22|2d 25,000
02 24| 25,000 25,000 0
OAlBI9=1963 SE&AIE 22|2d 25,000
S5 TAXY pe 20,000 0 20,000
TAHE BHA AANE A 20,000 0 20,000
CAHEHA ANMEA AHEaEH 29 20,000 0 20,000
201 gEt2Ay| 20,000 0 20,000
01 AP 22| H| 20,000 0 20,000
O AHEHA AMEN NS 2H 20,000
A2 AH|(AlBI2£=1963F &I &) 37,728 39,956 N2,228
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201 Let24d] 20,608 19,136 1,472
01 At 22/l 20,608 19,136 1,472
O R<IEet=:] 11,200
O= &l 9,408
202 44l 14,120 18,720 A 4,600
01 = LH o4 1l 14,120 18,720 A 4,600
OJlegdRF=8 0l 14,120
203 YR =&l 3,000 2,100 900
04 REN2ELRZ=TH 3,000 2,100 900
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